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10.

OR(3721dT)
Write a note on air pollution from cement industries.
d¥e IATET I §RT 91g, UGN WR (P
faavoft ford |

Write different sources and effects of soil pollution.
6

Y yquur @ fafyr—= Ea v ywE @t fad |

OR (3121an)
Write and explain remedies of soil pollution.

Y yquur @ O &1 faw gd @ |

Discuss reasons of ozone depletion in environment.

TIaRoT § 3N &ROT & HIRUN bl G4 |
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Sem. V/Auto.
E.P.C

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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€ & o 4 gfoa srRiieE @l savde
2 ?

What are different sources of noise pollution ?

4
eafr yguer & AT Sa s 4 2 ?
OR (3121a1)
How do we measures noise pollution ?
&+l YUl Bl &9 HY AU © ?
What is solid waste management ?
4

S &axT Y= 1 © 2

OR(3721dT)
Write a short note on agricultural pollution.

Gl grafera yguur wr dféra faaeelt fod |

NT5038

(i)

(iii)

(iif)

(iv)

3 1625503

(]) (31) = @) <=r

IUCN is the abbreviation for..............

(a) International Union for conservation of
Nature

(b) Indian Union for constitution of Nature.

(c) Indian University for constitution of

Nature.

(d) International University for Conservation
of Nature.

TUCN..eeceeene &1 wférg U 2|

(@) seHTEd T iR doRd I
JAH AR

@) sf~eas gfEaa ik sy
3H AR

(@) sfsaw gfEdtd vk sdcyz™
3AH AR

(]) seeHa gHaddd wik dekdeE
3 TR

World Earth Day is celebrated on..............
(a) 5th of June

(b) 5th of April

(c) 22th of June

(d) 22th of April

P.T.O
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(XX) o, db TR ¥ SATGT &af-T gguor
g E@eed & U @avArs ¢ |
(1) 10
(@) 20
(\) 50
(=) 120

GROUPB

Answer all Five Questions.

gl uig g & SR o

2.

4x5=20

How environmental pollution is related with

population growth. 4

gAfaRoT gquuT ST 9fg | »d wefad
27

NT5038

(vi)

(vii)

(vii)

(viii)

5 1625503

Wﬁm@mﬁwaﬁ:ﬁfm

(31) c=fafsdr

(@) Tifsd

(|) Sremef-icT

(?) 379 4 BIg T2 |

............... can be utilized for food by naturally
occuring micro organism.

(a) Metals

(b) Flourides

(c) Suspended solids

(d) Biodegradable organics

............. o & w9 § ATgHhl RIS
ST SYIT far wrar 2 1

(31) =g

C)REINEST]

(@) aasc wifas

(2) sfsusSaa mifas

................. is the property of water on account
of which it consumes soap without forming
lather freely.

(a) Acidity

(b) Hardness

(c) Neutrality

(d) None of these

P.T.O



O'L'd

0z1 (p)

0s 0

0z (Q)

01 (®)

"3[edy uewny 0} Snord3uep SI

qp UBY) 2I0W [IAI] HOHHHOd OSION

12k Bl bopha (2)

QLN (CY)

Rio (k)

By (k)

I3 ek |2

0D PIRDR Indd P lakbDR ™

asay} Jo auoN (p)

9sION (9)

Torem (q)

10§ (®)

oJel J8aq 1By

Ul 9SBAIOUL dsned At uonnyjod- ===

| Yth Bbldhe (2)
WRlak 1eehep (k)
bPIRIPIR ()

NN

£0SST91 I

(xx)

(x1%)

(x1x)

8€0SLN

asay} Jo auoN (p)
wrod (0)
orudgodoruy (q)

[eameN (e)
'HOIlﬂ[[Od JO SOOINOS e
............. © SI s9[Iqowone 01 dnp uonnjjod iy

kR Dbdhe (b)
ueg (r)

bb (B)
B3I (Ie)

aAa0qe Jo v (p)
e1d10y) (9)
KreyudsA(q (q)

proyd£, (&)
----------- SI SOSEBASIP SUOI}OQJUI QUIOQITBAN

gk Bl B pb3 (2)

PR|SE- (1)

g2 (b)

R (k)

12 D12 pm LBIR Ibika b 118
L=b) RRIS| ‘2 1ol 2b 1 R

8€0SLN 9

()

(x1)

(x1)

€0SST91



1625503

(xvi)

(xvii)

(xvii)

10 NTS5038

a1y YgNYT DI ERTd YHMG................. X
BIdT 2 |

(31) A9 ey

CESINEN

(|9) us—u=ar

(%) SuRiad G+ |

................... is a green house gas.
(a) Methane

(b) Oxygen

(c) Hydrogen

(d) All of above

(xviii) The major source of noise pollution is..........

(a) Industries

(b) Transport

(c) Public Address System
(d) All of above

NT5038

x)

(xi)

(xi)

(xii)

7 1625503

JATCHAIGISA §RT a1 UGN U
UGN EAId B |

(31) yrfas

(@) "rd™

(@) fag

(%) SWiad Hig -8l |

................ source is a type of air pollution
sources.

(a) Line

(b) Point

(c) Area

(d) All of above

............... i (& 91y 990 S o |
(a1) ufaa

@ fag

(|) a7%d

(%) Sutad G+ |

.................. is a source of NOyx air pollution
(a) Fuel combustion

(b) Lightening

(c) Organic decomposition

(d) All of these

P.T.O
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OR(3721d) OR (372rd)
Discuss impacts of ozone depletion on environment. Discuss impacts of ozone depletion on environment.
TITGROT UR JATSI &ROT & YAl HT quid I | TITIROT UR JATSI &ROT & YAl HT quid I |
11. Discuss various effects of sound pollution. 11. Discuss various effects of sound pollution.
el gygquer & faf=1 gwral & s o | &+l gyguer & faf=1 gwral & e o |
OR (3721d) OR(3721d1)
How sound pollution can be controlled. Explain. How sound pollution can be controlled. Explain.
&) UGNUT B UH AT D B o Ghdl 2 | &Y UGN B UH AT DY B off Gdhdl 2 |
AT BN | AT N |
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